Problem set 2. 

Seminar week 39
THE MATCHING MODEL
1. Use the matching model of section 3 chapter 9 in C&Z to analyse graphically the effects of :

unemployment insurance benefits, 
an ageing population

immigration

productivity,

the job destruction rate, and 

the efficiency of matching process 

on wages, labour market tightness and the unemployment rate. 

2. Discuss within the same framework 

The effects of increased bargaining power of the unions if wages are negotiated
3. Discuss what kind of factors that could improve on the matching efficiency.

